
qrsfrRtv qi?W@ "tfu frrtfft
> I N-@ffiT4fr qrt-< E s-< nls :

4rcrs 4(ffiwq ErER-$q U\s-<'sfr 6q-58qft-qffi r<cqEe t

(s) cqfrrr{:lN T+q q-Tu"imo< sF"J qq s

(D qE (r1) $E

(iiD <l{ (iv) Nq

({) T8 qR<E qffiq' - ECE sr<Rrqq

(i) s{("rrslft{ (ii) c{{tRtH

(iiD Gasrcrir<]c (iv) wFlg,fctf<'lq

(ti) Wr{ "Nrtt<lfr qrqE

i1 fr6fi4u s<( MCIT@E (i1) srctcurmr fii R<tRfic

(iii) cqBrcrmlc q<(qrErs'fctmH Gv) otrqs csQrr

1q; TEqA x< ftBg "tR$"ls'- ei Ufufr +r-<Rcqq :

(i) CsGlffi (iD c+Frcer<H

1iiD qfu (iv) qfu$E

(v) cfltiK q(p, {c{E iucrf, Blcd< fim<Eqq

6 Q&r erwt (ii) qlsm

(ii, ns <1 fr"dq (iv) effifuq q4

(u) wf;ffirq< {te* $]Tct< s'E q(1TI q{

1i) 4D (i1) &{

(iil) DK (iv) mCIl&ar
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as far as practicable.

)x) o

Please Turn Over



M ( 1 st S m. )-P hilo s op hy-H/C C- 2 (CB CS) (2)

(e) lTrq qrtT?+m qtlfr$ q{c (q( TF ftm< Ecaq +r<cqq-

(i) qfrq s qt<qBt 01) st'toK s S"nn+

(iiD 1s?ft erg& s 1E erEG (iv) mnrRdr
(q) cr$t6qT1u nl-ffi-s qa-G sE

11 w<rofr la& 6D fiftfr$'rhG
(iii) qrix qqG 1iv) fr-Glo qn.G

(<r) mF. nrffi-s crq-rq frlr+ frn-qG&rmr&-< sefi (cq{ ?

J(r) Crcro (iD E$

6i1 F"r+rw 6v) qft<fiBr

(q) qrftr<trq fuflfr nr.fr+ qcoq

_. 1(, cq$ls (i1) tr"lo^M

6ii) ER<Fv (iv) srm c$Q +l
6l tr< rr<.fl?qqsrrg'l saEfuE $r<trrdn

(i) c31tt (lD cq-fl6

6i1 F"rc+fO (19 nESFBT

6) F msrtfr-$o Caef+x Ef{ q{

(i) q'l6lqs, T&r s qqsrtu (i1) nut:lv, $1_+s € T@qEs

(iiD erq,1k s R-{lq (iv) mrcqtfrdr

q r Frxfrfig meR< c(fte Es< nt.g (N-mzqr ffi) z

(s) 'Nous'<EN qll{tglc't.13lT fr $rcilq{ ? xrwr"t <q I

f{l "r<a.,T*fr.o-< 1o <ec frr
(et) elrqrslR-crm {cs, qFtc(sr {Rfifr q'lr-\g< ut<E sgm oRTl q< 

r

(x) caril< {N Btr{-( EsqBfr qt-cEtE{t s-< |

(s) qrTRffm{ S {rq<' ffi q-6a6a q,
(u) cnetrei {N >ileTsK qFrs fr z

(9 F nnqx n(s EC<r< q-qt limrq o< r

G) emreT{ q{o 1fu< frffi <lr,ut o-< r
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(3)

rr r qlkfficaf, $'t-{"t sE <ll?[] o< r dr<.ffi.tvcq-< {1ct!1 qfikffiq frqr< iK "rqkffi-< qrlfqlE{] $T<{ ?

5 o+G

st ffifrgI$R,q-'rq<qtfrqtR'- fi-dTrp< €e TeF {"ifrsrc<<il".llt$T<ItryEfrw1rn"r<cElt<lt?n
$31 5o+G

a r fu61fg1< q(s ect fi r sr{j-< ws e('f{ q-'R?$ Cfi $}-elr< Trt?m $1T{ 2 e+ 5 \

s r Ep<fi-q5q wy<"1 ga-< Td1rqK {fi4 qlcni]-d'f 364 1 1ft qakefa tKls,Rfu q{, q-qcE srcm qcu q-"r6frsrc<

{g<? 50+t

IEnglishVersion ]

Thefigures in the margin indicatefull marks.

l. Ans-,ver gny ten questions. Choose the correct alternative from the given alternatives in each
1x 10question.

(a) The material cause of all things, according to Thales, is

ill wut.r (ii) Soil (iii) Air (iv) Fire

(b) 'Al1 in flux.'- This statement was made by

(i) Empedocles (ii) Heraclitus (iii) Protagoras (iv) Anaxagoras

(c) The names of two atomists are

(i) Leucippus and Democritus (iD Empedocles and Heraclitus

(iii) Protagoras and Anaxagoras (iQ None of them

(d) 'Man is the measure of all things'- This statement was made by

(i) Dernocritus (ii) Protagoras (iii) Gorgias (iv) Prodicus

(e) According to Plato, the subject matter of highest stage of knowledge is

(i) Sense-experience (ii) Form

(iii) opinion or Belief (iv) Mathematical Knowledge

(f) The total number of causes recognised by Aristotle

(i) Five (ii) Three (iii) Four (iv) None of these

(g) Thomas Aquinas referred to two forms of worldly things -
(i) Existence and Essence (i1) Form and Matter

(iii) Natura Naturans and Natura Naturata (iv) None of these
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(h) The philosophical method followed by Descartes is

(i) Deductive method (iD Mathematical method

(iii) Method of doubt (iv) Analyic method

(i) Which philosopher upholds the theory of mind-body interactionism?

(i) Descartes (ii) Locke (iii) Spinoza (iv) Leibnitz

O The philosopher believing in Pantheism is

(i) Descartes (ii) Spinoza (iii) Leibnitz (iv) None of them

(k) 'All ideas are innate'- This statement was made by

(i) Plato (ii) Descartes (iii) Spinoza (iv) Leibnitz

(1) The three types of knowledge admitted by Spinoza are

(i) Adventitious, Fictitious and Innate (ir) Opinion, Rational and Intuitive

(iii) Reason, Intellect and Faith (iv) None of these

2. Answer the following questions briefly (uny Jive) 5 5

(a) What is Nous according to Anaxagoras? Explain briefly.

(b) What is the main contention of Atomism?

(c) Explain, after Empedocles, the four periods of our world of changes.

(d) Discuss the marks of knowledge afler Plato.

(e) Explain the 'third man' aigument of Aristotle.

(f) What, according to Descartes, are the criteria of truth?

(g) Analyse the nature of substance after Spinoza.

(h) Explain the principle of Sufficient Reason of Leibnitz.

Answer the following questions (uny two) :

3. Explain Aristotle's Causal Theory. How does Aristotle criticize, with the help of his doctrine of causes,

his predecessors? I 0-5

4. Clearly explain the Carlesian dictum 'cogito ergo sum'. Is it an inferential truth? Explain. 10+5

5. What is an attribute, according to Spinoza? How does he explain the relation between substance and

attributes? 3+12

l'r*.

L

6. Discuss after Leibnitz the nature of monad. How is the relation among monads possible if monads are

windowless? 1o+5


